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QUESTION 1

What are two advantages of centralized LAN backup? (Choose two.)
A. does not interfere with LAN bandwidth

B. centralized management

C. automated operation

D. no single point of failure

E. shared libraries

Correct Answer: BC

QUESTION 2
Your customer has a highly diverse IT environment, which is predicted to grow more diverse over the next few years.
Their current management process is extremely complex and costly. They want to simplify their management

processes.

Which tool simplifies management by providing a single, scalable remote monitoring and support solution for multiple
operating systems and technologies?

A. WEBES
B. RISS
C.RSP
D. HP SIM

Correct Answer: D

QUESTION 3

You are connecting two switches using a Fibre Channel cable. You notice a slow flashing green LED on the connected
ports. What can this indicate? (Choose three.)

A. The two switches have been configured with identical domain IDs.

B. The two switches have different RA_TOV values.

C. One of the switches is a SAN Switch 8-EL.

D. The two switches are configured with identical TCP/IP addresses.

E. The two switches are enabled with different fabric zoning configurations.

Correct Answer: ABE
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QUESTION 4

What is the maximum allowable number of hops in all fabric topologies?
A.9

B.2

C.7

D.5

Correct Answer: C

QUESTION 5

What describes a fully meshed fabric?

A. hierarchical switch arrangement

B. inter-switch links from each switch to every other switch
C. storage hosts connections to the marginal switches

D. maximum of three hops from end to end

Correct Answer: B
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